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A v v 2 & 5 N—22 R—19 P—14 I-12 Uu-16 E-20 D-17 I-16
i i B 5] [ L1 7 [ HL 7 [ L1 7 [ HL 7 [ L1 7 [ {7 [ L1 7 [ | L1 5
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LT HF o ®ws 3.3 1.2 6.2 EN] AH A 3.7 A
% s F A B} SERR25EITATH FR25HE1ILA 1H SERR25EIIATH Fpk256E10 430 H SER25FEITATH Fpk256E10 28 H SFRR254E10 4 28 H Fpk256FE11H5H
S iR 19.5 20.7 17.1 15.8 16.3 15.3 13.5 17.0
% i i3 > 30 > 30 > 30 > 30 > 30 > 30 > 30 > 30
p H 7.1 7.1 7.6 5.9 6.8 6.4 7.1 6.6
R AR E R (mS/m) 33.7 28.4 18.1 10.4 23.9 13.8 11.6 28.3
bl y~ S v A (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
S v Ve b3 (mg/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
) (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
ANl 2 RN (mg/ L) < 0.02 <0.02 < 0.02 <0.02 < 0.02 <0.02 < 0.02 <0.02
[} # (mg/ L) < 0.005 < 0.005 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
[ w® * Fiid (mg/ L) < 0. 0005 < 0.0005 < 0. 0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
T F A ok (mg,/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
KU LY 7= =1 (L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Y s wm om X ¥ v (mg/ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
I~ S (T I (mg/ L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
ok v = ® ) v — (mgL) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
" L2 — ¥ /7 mua=x ¥y (g/L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
L1—YZ7aBa=xF L g L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L2 - Y7 maBe=xF Ly (g L) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLl— hY 2z moxyr (g L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL2— FY 2z moxyr  (g/L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
5 Y s mEm = F Ly (mgSL) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
F b7 7 mum=F Ly (mgL) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
L3 — Y2z wvnw 7a Ay (gL) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
+ v 7 IN (mg/ L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
v < v v (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
F oA R v h oA T (mg/ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
H ~ v 4 v (mg/ 1) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
' v v (mg/ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MWEEERKRCEMBREESR (/L) 3.0 8.3 3.4 3.8 L7 2.2 0.09 0.59
5 - # (mg/L) 0.13 0.18 0.17 <0.08 0.54 0.15 0.26 0.13
1F ] # (mg/L) <0.03 0.06 < 0.03 < 0.03 < 0.03 < 0.03 < 0.03 < 0.03
L1 - ¥ F F ¥ v (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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Ll o [ES 5y AV R RN AV R RN AV R RN AR RN
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LT HF o ®ws 3.1 EN] AH A AH A 8 1.2
23 e F A B} SERR254E10 4 29 H 254210 H 29 H SERR254E10 4 28 H FR254:10 H 28 H Fk254E10 31 H 254210 H 30 H Fk254E10 H 30 H FR254:10 431 H
S iR 16.0 15.3 19.0 16.9 15.3 17.2 13.8 16.5
% i i3 > 30 > 30 > 30 > 30 > 30 > 30 > 30 > 30
p H 7.6 6.5 6.2 6.4 6.7 6.5 7.6 7.5
R AR E R (mS/m) 9.2 11.3 25 14.6 6.5 9.0 9.6 16.2
bl r~ S v A (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
S v Ve b3 (mg/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
) (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
ANl 2 RN (mg/ L) < 0.02 <0.02 < 0.02 <0.02 < 0.02 <0.02 < 0.02 <0.02
[} # (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
[ #® * Fiid (mg/ L) < 0. 0005 < 0.0005 < 0. 0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
T F A ok (mg,/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
KU LY 7= =1 (L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Y s wm om X ¥ v (mg/ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
I~ S (T I (mg/ L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
ok v = ® ) v — (mgL) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
" L2 — ¥ /7 mua=x ¥y (g/L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
L1—YZ7aBa=xF L g L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L2 - Y7 maBe=xF Ly (g L) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLl— hY 2z moxyr (g L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL2— FY 2z moxyr  (g/L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
| PV s mE =T L el < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
F b7 7 mum=F Ly (mgL) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
L3 — Y2z wvnw 7a Ay (gL) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
+ v 7 I (mg/ L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
v < v v (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
F oA N N T (mg/ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
H ~ v 4 v (mg,/ L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
' v v (mg/ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MWEEERKRCEMBREESR (/L) 0.06 0.47 2.6 0.97 1.0 L8 0.88 Lo
5 - # (mg,/ L) <0.08 <0.08 0.23 <0.08 0.09 < 0.08 < 0.08 0.09
IE3 ] # (mg,/ L) <0.03 <0.03 < 0.03 < 0.03 < 0.03 < 0.03 < 0.03 < 0.03
L1 - ¥ F F ¥ v (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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A > v EY & 5 N—12 R—06 N—07 L—19 K—16 M—17 N—17 N—-16
i i B 5] [ L1 7 [ HL 7 [ L1 7 fi |7 [l |17t fi |7 fi it fi Lt
Ll o [ES 5y AV R RN AV R RN AV R RN AR RN
= Fiaal ¥ I IZSioal I HIT I HIT I HIFF
2] # m B W AETE K ESEVN T Oft AETE K AETE K AETE K AETE K ESEVN
LT HFoESE 6.1 1.7 AH 6 4 9 10 9.6
23 e F A B} SERR254E10 4 30 H FR254:10 4 31 H SERR254E10 4 31 H 254111 20 H P25 11 H 20 H 254111 20 H k25411 H 20 H 254111 20 H
S iR 18.2 18.0 19.1 17.5 18.0 17.5 21.0 18
% i i3 > 30 > 30 > 30 > 30 > 30 > 30 > 30 > 30
p H 6.4 6.2 6.3 6.2 6.7 6.3 6.6 6.7
R AR E R (mS/m) 34 13.9 26.0 10.9 25.6 68.9 13.0 22.4
bl r~ S v A (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
S v Ve b3 (mg/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
) (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
ANl 2 RN (mg/ L) < 0.02 <0.02 < 0.02 <0.02 < 0.02 <0.02 < 0.02 <0.02
[} # (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
[ #® * Fiid (mg/ L) < 0. 0005 < 0.0005 < 0. 0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
T F A ok (mg,/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
KU LY 7= =1 (L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Y s wm om X ¥ v (mg/ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
I~ S (T I (mg/ L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
ok v = ® ) v — (mgL) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
" L2 — ¥ /7 mua=x ¥y (g/L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
L1—YZ7aBa=xF L g L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L2 - Y7 maBe=xF Ly (g L) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLl— hY 2z moxyr (g L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL2— FY 2z moxyr  (g/L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
| PV s mE =T L el < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
F b7 7 mum=F Ly (mgL) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
L3 — Y2z wvnw 7a Ay (gL) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
+ v 7 I (mg/ L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
v < v v (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
F oA N N T (mg/ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
H ~ v £ v (mg,/ L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
' v v (mg/ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MWEEERKRCEMBREESR (/L) 6.3 0.98 0.97 6.5 L9 45 L0 8.6
5 - # (mg,/ L) 0.11 <0.08 < 0.08 0.10 0.35 0.15 0.12 0.16
1F ] # (mg,/ L) <0.03 <0.03 < 0.03 < 0.03 0.04 < 0.03 < 0.03 0.07
L1 - ¥ F F ¥ v (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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2] f# m H AETE K ESEVN AETE K AETE K AETE K AETE K AETE K
LT HFoESE 3 A 3.5 A 5.0 80 2.5
% s F B} SFRR254E11 A 20 H Epk256E11H 25 H SFER254E11 A 25 H Epk256E11H 25 H SFERR254E11 A 25 H Epk256E11 A 25 H SFR254E11 A 25 H
S iR 16.0 17.5 16.4 18.9 16.0 16.6 17.4
% i i3 > 30 > 30 > 30 > 30 > 30 > 30 > 30
p 6.9 6.5 6.5 7.4 6.6 6.5 6.6
R AR E R (mS/m) 28.5 24 15 16 38 36 15
bl r~ S A (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
S v Ve (mg/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D.
) (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
N i 7 (mg/ L) < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02
[} # (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
[ #® * Fiid (mg/ L) < 0. 0005 < 0.0005 < 0. 0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
VA Y VR N 3 (mg/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D.
KU kv 7 o= 2 (mg/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Y 7 v om 2 ¥ v (mg/ L) < 0.002 <0.002 < 0.002 <0.002 < 0.002 < 0.002 < 0.002
I S (R (mg/ L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
ik =1 - (mg/L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
" L2 — ¥ /7 mua=x ¥y (g/L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
L1—YZ7aBa=xF L g L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L2 - Y7 maBe=xF Ly (g L) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLl— hY 2z moxyr (g L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL2— FY 2z moxyr  (g/L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
gl PV zwmmr=F Ly L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
F b7 7 mum=F Ly (mgL) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
L3 — Y2z wvnw 7a Ay (gL) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
+ v 4 (mg/ L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
v < v (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
F oA N N T (mg/ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
H ~ v i (mg/ L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
t v v (mg/ L) < 0.002 <0.002 < 0.002 <0.002 < 0.002 < 0.002 < 0.002
MEEERR CHEMBREER  (g/L) 1.2 4.4 2.3 5.2 1.9 3.2 0.56
5 - # (mg,/ L) 0.33 0.21 0.16 0.13 0.21 0.53 < 0.08
1F ] # (mg,/ L) <0.03 0.04 < 0.03 0.17 0.06 0.35 < 0.03
L1 - ¥ F F ¥ v (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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ot o ®ES (m) 10 6.1
23 I S A H Fpk256E10 28 H SFERR254E10 430 H
ES i 15.3 18.2
% # B > 30 > 30
p H 6.4 6.4
ER R HEE (mS/m) 13.8 34.0
7 m om kK A (mg/ L) < 0.006 < 0.006
®w (L2 - Y27 o8r 7oy (g L) < 0.006 < 0.006
p— Y7 amu vy ¥y mL) <0.02 < 0.02
A4 v x ¥ F A v (mg/ L) < 0.0008 < 0.0008
g 4 T ¥ ) v (mg/ L) < 0.0005 < 0.0005
gl 7 = = b m F o4 v (mg/ L) < 0.0003 < 0.0003
4 Y 7 om F A4 T v (mg/ L) < 0.004 < 0.004
E (mg/ L) < 0.004 < 0.001
7 m o m ¥ v = N (mg/ L) < 0.004 < 0.004
# 7 m ¥ ¥ I K (mg/ L) < 0.0008 < 0.0008
E P N (mg,/ L) < 0.0006 < 0.0006
DA A (mg,/ L) < 0.001 < 0.001
7 = J 7 h oA 7 (mg,/ L) < 0.002 < 0.002
H| 4 7 m X ¥ & 2 (mg/ L) < 0.0008 < 0.0008
/7 m LV = kB 7 x v (mg/ L) < 0.0001 < 0.0001
b v ES M (mg/ L) < 0.06 <0.06
¥ v 1% v (mg/ L) < 0.04 < 0.04
Hl72r@Yx2FLr~% 1 (mg/L) < 0.006 < 0.006
= v i W (mg/ L) < 0.005 < 0.005
€ U 7 7 v (mg/ L) <0.01 < 0.01
7 > b LS v (mg/ L) < 0.0005 < 0.0005
=¥ s mam b FY ¥ (gL) < 0.0001 < 0.0001
E S v av (mg/ L) < 0.02 <0.02
4 7 > (mg/ L) < 0.0002 < 0.0002
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2 vy v = BB F—15 D—19 P-18 N-17 M-18 L-19 L—17 L-17 M—18 L-22 I1-19 K-19 J-20
i # 1 ] [ Ly 07 f 1L i | L 7t i | L 7t i | L 7t i | L 7t i | L 7t i | 7t i | L 7t Bt Bt Bt Bt
i # X 5 s R A s R A AR kit B LA AR A AR Mot B L A ik AR e AR A AR A ke B LA e AR A
Eivnl EiDAO A WIEF B B B B B B B B B | B |
2] [C i = I ] AT K AETE K EREDEEN EREDEEN THSIK EREDEEN Z DAt EREDEEN EREDEEN EREDEEN AR AR AR
i ] Ao ®ES (m) 5 | 4m 6m Llm 4m R | R 3m R 16m R
23 1 ki A ] TRR2546 H2TH | TAR25410 128 F | FR2546 H2TH | ER254 10428 A | FRR254211 28 A (251128 A | EAR254E11A21A | TAR25411 28 A | PAR2SH LA LA | ER25HE11A2IA | FRR254E11A21A | Ph2642 180 | FRe6s2 A 18 | FR2642A 18R 20 18R
U i 18.8 17.8 20.8 18.5 17 11 17.5 17 11 16 18.5 11.4 15.3 17.3 6.5
% i iy > 30 > 30 > 30 > 30 > 30 > 30 > 30 > 30
p H 6.5 7.0 6.6 6.8 7.0 6.8 8.3 7.9
#  (mS/m) 33.7 35.4 23.6 25.9 23 30 91 49
B | 2 v A (mg/L)
& v 7 v (mg/ L)
i (mg/ L) < 0.005
K ofli 7 om A (/L)
o) # (mg,/ L) < 0.005 < 0.005 0.033 0.034 < 0.005
i IS i (mg/ L)
7o ¥ v oK | (me/L)
KV L 7==21 g L)
Y s omom A X v (/L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oo e B # (me /L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
e =nr=/~v— (g L) < 0.0002 < 0.0002 < 0.0002 < 0.0002
* L2—Y eIy (/L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
Li-YZ7maxFLy (mg/L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L2-=Y7ma=F Ly (mg/L) < 0.004 0. 005 0. 005 0.005 < 0.004 < 0.004 0.020
LLl—bhU 2oz (mg/L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL2—bY 2z (mg/L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
gl bR EF LY (mg,/ L) 0. 002 0. 004 0.036 0.037 < 0.002 < 0.002 < 0.002
Fh7 7R F LY (mg/L) <0.0005 < 0.0005 0. 068 0.0071 < 0.0005
L3—YZsmr7a~y (g L) < 0.0002 < 0.0002 < 0.0002 < 0.0002
F v 7 A (mg/L)
v < v v (mg/ L)
F oA X v h T (g/L)
] Ny ¥ v (mg/L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
h4 v v (mg/ L)
MRS R R OV R E R (ng/ L) 9.2 10
BN - # (mg/L) 0.87 1.3 1.9
[ ) ES (mg/ L)
1,4 v # v (mg/L)
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